DGT Employability Skills S2

Question Previous | New
Sr.No Id Question Description Question Body Options Correct Correct
Option Option
50909:Histogram / g% ,
Which of the following is a fundamental 50910:Run chart / 31 El'l?f' ,
1 12729 QO01_DGT May19 ES2_M | tool of quality?MgfciRad & ¥ o1 Tura &1 . 50912
T Hifte SUHR 37 50911:Control chart / &eid d1¢ ,
50912:All of these / T4 fddweT ,
81311:International / 3T,
. - 81312:Indian / $feT,
2 20347 Q01_DGT_NOV18_ES2_M %Vgth grfoiercsrrclr %t_,a”ds for in BIS? BIS , I : 81312
' 81313:Internal / Icd,
81314:Italian / Scfer,
50913:e,
_ _ _ 50914:k ,
3 12730 Q02_DGT_May19_ES2_M V‘Ii:an's? tlizgerggi{r&{';‘ﬁq i 50915:n, 50914
50916:None of these / 379 I
CAER T
81315:¢,
What is the silent letter in 81316:f,
4 20348 Q02_DGT_NOV18_ES2_M | w e un menicon B T SieR B 22 a1317:n. 81318
81318:k,
50917:Mechanic,
: . L 50918:Machanic
Which of the following spelling is 4
5 12731 Q03_DGT_May19_ES2 - : 50917
50920:Mechenic,
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Which of the foIIow.ing spelling is

81319:Personl,

81320:Personal,

6 20349 Q03_DGT_NOV18_ES2 81320
correct? FUffad # § ®F It ad+ I8! 872 81321:Pursenal,
81322:Parsanal,
50921:0pen,
What is the past tense form of . .
7 12732 Q04 _DGT_May19_ES2 "open"? "Open" Tea BT YIbTd T &1 50922:0pening, 50923
B &7 50923:0pened,
50924:0pens,
81323:Work,
What is the past tense form of
8 20350 Q04_DGT_NOV18_ES2 "Work'? "Work" ¥ea &1 Yasrg wy @ | 81324:Worken, 81325
B &2 81325:Worked,
81326:Working,
50925:Clarity / ¥O¥dT,
- , 50926:Briefness / Tfardr,
9 12733 Q05_DGT May19_ES2 ggt%h%qg'%%; %‘;Od report? T : 50928
' 50927:Relevance / U,
50928:All of these / I fd&ey,
81327:Clarity / {¥dI,
10 20351 Q05_DGT_NOV18_ES2 What is the quality of a good report? T | 81328:Briefness / ﬂf\&lﬁlal, 81330

3t R &1 3 107 g 82

81329:Relevance / URifT&T,

81330:All of these / g4t faw ey,
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Which of the following is a nationalized

50929:Bank of India / §& 3iTp sfear,

50930:State bank of India / ¥¢ S

11 12734 Q06_DGT_May19_ES2 bank of India? Fufifd & & B HRd &1 : 50932
Teb IPITPl Sieb g7 50931:Punjab national bank / USlld
AT §F
50932:All of these / 94t fd®weq ,
81331:To be independent / Wdd 8H,
An Entrepreneur's primary motivation . ‘c'I:I'ITrf:T
for starting a business is 81332:To make money / b,
12 20352 Q06_DGT_NOV18_ES2 T — 81331
It @t Trufie iR 2| | 81333:To be famous / URI& B,
81334:To be powerful / =Tl 8T,
50933:Strengths / TN ,
What does 'S' stands for in SWOT 50934:Sort / ﬂﬁ ,
13 12735 Q07_DGT_May19 ES2 M | analysis? SWOT fa=awur # 's' @ &1 50933
i g2 50935:Small / I
50936:Super / WX,
A "SWOT" analysis consists of all of the 81335:Orgamzatlon / !
following elements except . @-m [
14 20353 Q07_DGT_NOV18 ES2_M . TP "SWOT" fazaiwur | 81336:Strength / ¥, 81335
—____@iswfEkfdae | g1337:weakness / 159,
3(gd T g
81338:Threat / 9T,
50937:B,
; o 50938:E,
15 12736 QO08_DGT_May19_ES2 \%u‘;??oé%%'%wé”%?% S 0939.C 50938
50940:D,
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81339:a,
16 20354 Q08 _DGT_NOV18_ES2 \\i\él’\l/\i;:lw?of the following is%w%v 81340:¢, 81342
’ ’ 81341:j,
81342:All of these / T+ fawey,
50941 :output / 313cYc ,
17 12737 Q09_DGT_May19_ES2 é‘gsmk s a mg?"ice' e | 50942:input / ¥TYC 50942
E— 50943:storage / WS ,
50944 :memory / HARI,
81343:0utput / 313cYc,
Keyboard is a/an 81344:Input / 14C,
18 20355 Q09 _DGT_NOV18 ES2 device. BIaIE Th JUS & 81345:Storing / R 81344
| ’ !
81346:None of these / 370 4 Pis it
eI,
50945:Level / Odd ,
: : 50946:Long / @i,
19 12738 Q10_DGT_May19_ES2 %Vgth gﬁ"\fr;régga”ds for in ALU?ALU H L - 50947
: 50947:Logic / A& ,
50948:Large / @,
81347:Mouse / HI3Y,
is called as brain of 81348:Printer / flie,
20 20356 Q10 _DGT_NOV18 ES2 computer. B SR B 81349
AfeTsH FHET o1l 2| 81349:CPU / diUiyg,
81350:Screen / ®pbI,

www.kinsindustries.com




DGT Employability Skills S2

Which of the following is shortcut key to

50949:CtIr+S ,

save a file in MS word? fRafafad & @ &H -Ctlr+V
21 12739 Q11_DGT_May19_ES2 M | frme e e’ o d e 3 foru Qiéebe 50950:Ctlr+V , 50949
F AR 22 50951:Ctlr+P,
50952:CtIr+Y ,
81351:Ctir+C,
Which of the following is a shortcu?tfé(eg 81352:Ctlr+V
to copy the file in MS word? THTY . ’
22 20357 Q11_DGT_NOV18_ES2_M Waﬁﬁma’_mmﬁgﬁqw 81353 Ctlr+p 81351
qicHe Fﬁé? . r+p,
81354:Ctir+X,
50953:telephone / AItA ,
An address that starts from www is 50954:modem / AISH ,
23 12740 Q12_DGT_May19_ES2_M | related to WWw q & gH 50955
el Tl q et 1 50955:website / da¥I=SE ,
50956:Mouse / HI3Y ,
81355:Window Area Network / fa=!
TRAT Aead,
81356:Web Area Network / dd Tiam
E [
24 20358 Q12 DGT _NOV18 ES2 M gv{g;t%?%ss WAN stands for? WAN ¥ &1 ' 81357
81357:Wide Area Network / a8 TRY
Jead,
81358:World Area Network / acs TRl
50957:Computer / &R ,
Which of the following element is ! "
25 12741 Q13_DGT May19_ES2 %ugegﬁ%%gﬂg % mzf 39 | 50958:Modem / HisH , 50960
T 27 50959:Web browser / 4§ ST3WR ,

50960:All of these / T fddey,
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Which of the following is a social

81359:Google / T[T,

81360:Facebook / g,

26 20359 13_DGT_NOV18_ES2 tworki bsite? 375 ¥ B IT TR 81360
Q13-DET_NOVIS Seafbn dawree 3 81361:Yahoo mail / g B,
81362:G-mail / St 14,
50961:Verbal / Hifd® ,
What kind of communic%aizsﬁi%;aling 50962:Written / I ‘II E‘ T,
27 12742 Q14_DGT_May19_ES2 %ygfg%vf%eﬂtqe;;mgg;ﬂﬁ A T | £0963:Non-verbal /R 50963
50964:None of these / 398 ¥ ®ig 4t
e,
81363:Verbal / Hifd®,
What kind ofscﬁ%jnéunication is%inting 81364 :Written / IE”@EI/
h ? HT g UBR
28 20360 Q14 _DGT_NOV18_ES2 ;o&;ﬁegs ERURY] 81365:Non-verbal / SHIE®, 81365
81366:None of these / 318 T P15 off
e,
50965:Medium / HI¥IH ,
Which of the following is most important 50966:Decode / ﬁw
as per first principle of ’ !
29 12743 Q15_DGT_May19_ES2 commuﬂica}tion? [BEINIRER] ﬁ@r?ﬁjw 50967:Message / FI%"\’T , 50967
¥ Uga RIgid & SIUR oY Hgayqul 82
50968:Feedback / Ufdyfy,
81367:2,
- 81368:5
How many types of communication are ’
30 20361 Q15_DGT_NOV18_ES2 there? TR % fbad UHR 83 22 81369:3, 81369
81370:7

l4
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50969:Practice / fohar

50970:Way / T,

31 12744 Q16_DGT_May19 ES2 M | What is behavior? SdgR &1 872 50971:Both practice and way / fohar 50971
3R AT gl
50972:None of these / 398 ¥ @Ig 4t
Tel
81371:Practice / foar,
81372:Way / I,
32 20362 Q16_DGT_NOV18 ES2_M | What is behavior? dgR &1 87 81373:Communication medium / ¥9R | 81374
ey,
81374:All of these / T fawey,
50973:Stupidity / 3RHdI,
Which of the following element is not . ; ; %?alﬁv_fﬂ_ef
33 12745 Q17_DGT_May19_ES2 helpful in an interview? H&THR ofgd 50974:Hesitation / 4 50976
¥ B 1 ST Tl el 82 50975:0rthodoxy / FTaaTeT,
50976:All of these / 94t fadwey,
81375:Stupidity / T,
Which of the following egr%%n%i% ;%I:[[)fu' 81376:Hesitation / C,
34 20363 Q17_DGT_NOV18_ES2 in an interview ?TT&THR 1 . 81378
@ guE 27 81377:0rthodoxy / Fléal 3.6 ,
81378:None of these / 310 § ®Ig Ht
T,
50977:helpful / 9gld® ,
Laziness is T infefffective 50978:barrier / 313@[2{ ,
listening . 3TTT, UHTAT $aoT .
35 12746 Q18_DGT_May19_ES2 é’T ening 50979:essential / T 50978

50980:reward / 21MH,
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81379:Helpful / I8P,
Laziness is in effective 81380:Barrier / m?‘[r
36 20364 Q18_DGT_NOV18_ES2 %sat_[e%i|ng. TR, GHISY &qur & 81381:Essential / W=, 81380
81382:None of these / 378 9 ®ig i T&l,
50981:input to profit / 9Yc I @Y ,
cF;;oductivity is defined as theﬁratio 50982:output to input / W ﬁ s‘rlg,‘c' )
37 12747 Q19_DGT_May19_ES2_M —%&WSE: % =7 3 50982
TR o o 3 50983:input to output / 34T ¥ 3A3CYL ,
50984 :output to profit / 3T3cYe I A ,
81383:Raw material / Pl HId,
Which of the following is related with 81384:Labor skill / % PHITI,
38 20365 Q19_DGT_NOV18_ES2_M | productivity? fFrafefad # & & &1 S 81386
JaTeshdl & Fefid 82 81385:Financial capital / faxita s,
81386:All of these / g4t fawey,
50985:Tell / <,
What does' T' sands for in ATM? aATM & | 200986:Teller / TR,
39 12748 Q20_DGT_May19_ES2 s 50986
T 9 T Sif 82 50987:Time / T_H ,
50988:Tag / &,
81387:You / Y,
40 50366 Q20_DGT_NOV18_ES2 What does' Y' stands for in KYC? KYC H, 81388:Your / TR, 81388

Y I T U g 2

81389:Yawn / T,

81390:Yourself / TRITH,
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Which of the following is an objective of

50989:Preserve life / Sia- &1 TR B,

50990:Prevent further harm / [ g4 ardl
IHAH PI ABT,

41 1274 21_DGT_May19_ES2 first aid? Fufafad & I w19 a1 wufie 2
o | Q21-PET-Mayld &S %;%mm%p 50991:Promote recovery / WRI AH F | 00
Serar ¢,
50992:All of these / Tl fa@wey,
81391 :Tincture iodine / f&=R &I'I'Cﬁ@ﬁ?,
) . ) 81392:Dilute HCL / dq HCL
A first aid box contains . Th ’
42 20367 Q21_DGT_NOV18_ES2 Tt R st & Sz | 81393:Engine oil / SO 3, 81391
81394:All of these / g4t fawey,
: _ . e of th 50993:sintering / Rief{T,
ncrease In average temperature o e - 3
earth surface due to greiﬁr;rhouse effecg; 50994:global warming / SIEN a”ﬁ”,
43 12750 Q22_DGT_May19_ES2 iscalledas __ . UM gR¥I UYG e . 50994
PRO Gt B T8 B NG AT F g B 50995:first aid / Wdfb® RKifear ,
ST B
I S 8 50996 pollution / TgHV,
81395:Dry wood or rubber gloves / ‘v'l,_:@
TGS AT IR & G o,
How to remove a person sticking to the | 81396:Holding his hand / 3d®T g1
44 20368 Q22_DGT_NOV18_ES2_M | wire of electricity supply? ﬁ?{gﬂ THEh 81395
IR ¥ foud Ffd B FY R HRd 82 -
81397:By wet wood / Tficlt Adhs! gRI,
81398:By iron rod / Aig ®I B8 g,
50997:Increase in manpower / B’ &
_ _ 50998:Increase in economy / 3ifcgaw #
45 12751 Q23 _DGT May19_ES2 M What is the benefit of 5S system? 5S q@ , 50999

Ut & T ATH ]2

50999:1Increase in productivity / Sdlcdhdl

Haf,

51000:Increase in pollution / UgWU H q@

www.kinsindustries.com




DGT Employability Skills S2

What is the benefit of 5S system? 5S

81399:Increase in manpower / SFRIfad & Jf,

81400:Increase in economy / 3feqawiT & dfs,

46 20369 Q23_DGT_NOV18 ES2 M | oyt 3 aoqy ary & 81401:Increase in productivity / IdGHdT & 81401
81402:Increase in pollution / UgyU ﬁq@,
51001:safety measures / JR&l Iurgt ,
Contract labour regulation and abolition | 51002:insurance deduction / &A1 ®ardt
act is related to . 3dY 4H
47 12752 24_DGT_Mayl1l9_ES2_M : 51004
Q24_DGT_May19_ES2_ ﬁw@wgm 51003:minimum wages / <JAdH Hogsl ,
Heifed g
51004:strike and work down / g3did 3R
FHEC!
81403:1951,
When was the apprentice act 81404:1961,
48 20370 Q24_DGT_NOV18_ES2_M | enacted? fRigf siffas e sifafafaa faban 81404
T YT? 81405:1971,
81406:1981,
51005:Dry powder extinguisher / X[&h UI3SX
=S |,
Which of the following is not a type of 51006:Halon extinguisher / gar IiemIe
49 12753 Q25_DGT_May19_ES2 fire extinguisher?f@fafad # ¥ oH IO — 51008
SIS BT T UHR el 82 51007:CO2 extinguisher / CO2 3{URIHS ,
51008:0xygen extinguisher / 3fiadIo
SfiemHs,
81407:Solar / ?ﬁ?,
Which of the following is a non 81408:Coal /W,
50 20371 Q25_DGT_NOV18_ES2 81408

renewable energy? 370 ¥ B I IR
BCIGRUIR

??

81409:Wind / Ua,

81410:All of these / I fadwey,
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